
PARTS INDEX 

P O S T  R A I L I N G  S Y S T E M S 
 

G L A S S  R A I L I N G  S Y S T E M S 
 H A N D R A I L 
 

I N S TA L L AT I O N  G U I D E
 
I N S TA L L AT I O N  G U I D E
 

1

www.axiarai l ing.com

POST

TUBE/BAR INFILL

CABLE INFILL GLASS CLAMPTUBE/BAR HOLDER

HANDRAIL FITTINGS

GLASS CAP RAIL 
 FITTINGS

GLASS STANDOFFS GLASS U-CHANNEL

HANDRAIL

GLASS CAP RAIL

POST 
HANDRAIL 
SUPPORT

WALL
HANDRAIL 
SUPPORT

SADDLE

www.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

1B

AX00.091.800.A.SP

AX00.091.805.A.SP

AX00.091.820.A.SP

AX00.091.830.A.SP

AX00.091.855.A.SP

AX00.091.880.A.SP

AX00.091.885.A.SP

AX00.091.900.A.SP

AX00.091.905.A.SP

AX00.091.250.A.SP

AX00.091.540.A.SP

AX00.091.265.A.SP

AX00.091.260.A.SP

AX00.091.255.A.SP

AX00.091.266.A.SP

AX00.091.267.A.SP

AX00.091.269.A.SP

800X

805X

820X

830X

855X

880X

885X

900X

905X 
 

250X

540X

265X

260X

255X

266X

267X

269X

3/8 x 3-1/2” Wood lag bolts
                              

3/8 x 3-3/4” Concrete wedge anchors         
                                

#10 x 3” Wood screw to attach to wall 

#14 x 3” Wood screw to attach to wall  

      
                   

#12 x 3” Flat head wood screw  

1/2 x 2-1/2" Flat head drop in anchor 

#14 x 3” Wood screw to attach to wall/floor
(includes 3/8" washer)

M6 x 80 mm Wood screw with flat head(phillips)

M6 x 85 mm Machine screw with socket head 

M5 x 12 mm   

                              

4.8 x 25 mm

M6 x 10 mm

M6 x 20 mm

M8 x 25 mm

M5 Threaded Pop Rivet

M6 Threaded Pop Rivet

M8 Threaded Pop Rivet 

Attaches saddle to metal handrail - 2 per   

                              

Attaches saddle to wood handrai - 2 per

Attaches saddle to stem (Replacement) - 1 per 

Attaches bar holder to metal post - 1 per 

Attaches glass clamp to metal post - 1 per 

Attaches glass clamp to metal post - 1 per 

Attaches glass clamp to metal post - 1 per

Attaches glass clamp to metal post - 1 per

Round newel post mount - 3 per 

Square newel post mount -  2 per 

Round newel post mount - 3 per 

Square newel post mount -  2 per

Round wall mount flange - 3 per

Square cap rail wall mount flange - 4 per

Round cap rail wall mount flange - 4 per

Round adjustable angle wall rail fitting - 3 per 
Square adjustable angle wall rail fitting -  4 per 
Square wall mount flange - 4 per
Round wall Rail return - 3 per
Round side mount post bracket - 2 per
Square side mount post bracket - 2 per

Round wall Rail Bracket - 3 per

Square wall Rail Bracket - 2 per 

U Channel 90 degree corners - 2 per 

U Channel floor / wall mount (2500mm)

U Channel floor / wall mount (5000mm)

Standoffs / side mount post brackets - 2 per

Standoffs / side mount post brackets - 2 per

  

Quick# 

Quick# Part# 

Part# 

Description

Description

Application - Quantity Required

Application - Quantity Required

www.axiarai l ing.com

PARTS INDEX 

S Y S T E M  H A R D W A R E 

A N C H O R S

www.stairwayshop.com



PARTS INDEX 

A D H E S I V E S  &  C L E A N E R S

T O O L S  &  A C C E S S O R I E S

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

COD.            

HFC18.C9CUTTER

Cable cutter(large) COD.            

HFC18.PLIERS

Cable gripping pliers

1C

COD.            

AX00.100.563

Thread Lock COD.            

AX00.100.525

Anaerobic 
Adhesive COD.            

EPC-410

Two part epoxy
COD.            

EPC-101 
 

Epoxy gun

COD.            

S-2611

Clear Silicone Sealant COD.            

AX00.080.505

Scotch Brite PadsCOD.            

AX00.080.515

Degreaser

Step 1

COD.            

AX00.080.510

Cleaner/Polish

Step 2

COD.            

AX00.080.517

Polish/Passivator

Step 3

COD.    
               
AX00.070.652 

Cutting fluid COD.    
               
AX00.070.651 

Center punch
AX00.110.710

Shims (12 pack) COD.            

S-9403

Sure Tite 
Newel Fastener

Key Lock 
Newel Fastener
S-9401

COD.            

HFC18.CUTTER

Cable cutter(small)

COD.            

HFC18.WHEEL

Cable cut-off wheel

Tension Gauge
HFC18.TENSION.GAUGE

Cable Release Key
HFC18.KEY

Insert Tube
HFC18.TUBE

Push lock lag driver
DRIVER PL-LAG/R

www.axiarai l ing.comwww.stairwayshop.com



PARTS INDEX 

S P E C I A L I T Y  T O O L S

I N S TA L L AT I O N  G U I D E
 

2

See our recommended tools section for information on cutting 
stainless steel. This section includes a complete range of tools 

that we highly recommend for professional installation. 

www.axiarailing.com/recommended-tools

1C

COD.            

AX10.070.212

Infill tube bender

AX00.060.400                  

Hydraulic Crimper COD.                             

AX00.060.415                  Die set for 3-4mm
AX00.060.420                  Die set for 5-6mm

Die set

AX00.070.520 

Pop rivet gun

AX30.070.530 

Spanner wrench - round Spanner wrench - square
AX30.070.531

COD.            

AX40.070.562 

Wedge tool

www.axiarai l ing.comwww.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

1

Pre-assembled kit includes fittings and factory swaged cable in lengths 5'-25'

       
Through-post configuration

1D

COD.    
               
AX00.070.630 

       
102 Wood Post Drill Kit
Includes:
5/32" Wood drill bit
9/32" Wood drill bit
29/64” Wood drill bit
7/16” Open end wrench
1/8" Allen wrench

COD.    
               
AX00.070.635 

       
102 Metal Post Drill Kit
Includes:
5/32" Metal drill bit
9/32" Metal drill bit
29/64” Metal drill bit
7/16” Open end wrench
1/8" Allen wrench

HFC18.102-5 5’ .15 kgs (.331 lbs)
HFC18.102-10 10’ .227 kgs (.5 lbs)
HFC18.102-15 15’ .303 kgs (.669 lbs)
HFC18.102-20 20’ .383 kgs (.844 lbs)
HFC18.102-25 25’ .549 kgs (1.2 lbs)

Outside to outside
Level/balcony or angle/stair
Steel or wood posts

Drill
1/4"

Drill
29/64"

Drill
9/32"

Drill
5/32"

Outside to outside
Level/balcony or angle/stair
Steel or wood posts

       
Through-post configuration

TensionerTensioner

Drill
5/16"

Drill
5/16"

COD.    
               
AX00.070.610 

       
Bulk Cable & Fittings Drill Bit

Includes:
5/16” Kobalt drill bit
10 mm Open end wrench
8 mm Allen wrench

AX00.060.400                  

Hydraulic Crimper

COD.            

HFC18.CUTTER

Cable cutter(small)

COD.            

HFC18.CUTTER

Cable cutter(small)

COD.            

HFC18.WHEEL

Cable cut-off wheel

Tensioner Non-Tensioner

www.axiarai l ing.com

PARTS INDEX 

S W A G E D  C A B L E  I N F I L L  K I T S  F O R  W O O D  O R  M E TA L  P O S T S

C A B L E  I N F I L L  -  S W A G I N G  R E Q U I R E D  -  W O O D  O R  M E TA L  P O S T S

www.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

2

1D

WLN1/8-1

WSN1/8-1

WLT1/8-1

WST1/8-1

PUSH LOCK

       
Surface-mount configuration

TensionerNon-Tensioner

 Drill
7/32" x 1-1/2"

 Drill
7/32" x 1-1/2"

MLN1/8-1

MSN1/8-1

MLT1/8-1

MST1/8-1

PUSH LOCK

       
Surface-mount configuration

TensionerNon-Tensioner

 Drill / Tap
5/16-24

 Drill / Tap
5/16-24

COD.    
               
AX00.070.650 

       
Metal Post Drill Kit
Includes:
5/16" Tap (24 thread)
5/16" Metal drill bit - Letter I
5/32” Metal drill bit
3/8” Open end wrench
3/16" Allen wrench

COD.    
               
AX00.070.625 

       
Wood Post Drill Kit
Includes:
5/32” Wood drill bit
7/32” Wood drill bit 
3/8” Open end wrench
3/16" Allen wrench

COD.            

HFC18.CUTTER

COD.            

HFC18.CUTTER

Cable cutter(small)

Cable cutter(small)

Push lock lag driver
DRIVER PL-LAG/R

Inside to inside
Level/balcony or angle/stair
Wood posts

Inside to inside
Level/balcony or angle/stair
Metal posts

WLN1/8-1  Wood Level Non Tensioner  
WLN1/8-10 Wood Level Non Tensioner(10 pack) 
WLT1/8-1  Wood Level Tensioner   
WLT1/8-10  Wood Level Tensioner(10 pack)  
WSN1/8-1  Wood Stair Non Tensioner  
WSN1/8-10 Wood Stair Non Tensioner(10 pack) 
WST1/8-1  Wood Stair Tensioner   
WST1/8-10 Wood Stair Tensioner(10 pack)  
     

MLN1/8-1  Metal Level Non Tensioner
MLN1/8-10 Metal Level Non Tensioner(10 pack)
MLT1/8-1  Metal Level Tensioner 
MLT1/8-10  Metal Level Tensioner(10 pack)
MSN1/8-1  Metal Stair Non Tensioner
MSN1/8-10 Metal Stair Non Tensioner(10 pack)
MST1/8-1  Metal Stair Tensioner
MST1/8-10  Metal Stair Tensioner(10 pack)

www.axiarai l ing.com

PARTS INDEX 

S W A G E L E S S  C A B L E  I N F I L L  F O R  W O O D  O R  M E TA L  P O S T S

www.stairwayshop.com



Cutting and Drilling Stainless Steel
 

G E N E R A L  G U I D E L I N E S  
 

T O O L S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

www.axiarai l ing.com

• (Cold Cut Saw, Bench top Portable Bandsaw, 

• Cobalt Drill Bits
• Center Punch
• 

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

Complete tools list is provided on individual installation guides

2

www.stairwayshop.com

https://www.stairwayshop.com/page/contact/



I N S TA L L AT I O N  G U I D E
 

2www.axiarai l ing.com

 

 newel post.
 

2

www.stairwayshop.com



Cleaning and Maintenance of  Stainless Steel
 

G E N E R A L  G U I D E L I N E S  
 

T O O L S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

• Cloth Rag
• Scotch Brite Pads (7447 General Hand Pad) (AX00.080.505)
• Degreaser (AX00.080.515)
• Cleaner/Polish  (AX00.080.510)
• Polish/Passivator (AX00.080.517)

To keep this corrosion resistance, it is necessary to 
 • Storage near iron elements 
 • Use of same tools both for iron and stainless-steel items 
 • Inadequate treatment during the assembly 

AXIA STAIR & RAILING SYSTEMS®

• 
• 
• 

AXIA STAIR & RAILING SYSTEMS® 

AXIA STAIR & RAILING SYSTEMS®

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

3

www.axiarai l ing.comwww.stairwayshop.com

https://www.stairwayshop.com/page/contact/



S T E P S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

2

Step-1

Step-2

 

Step-3

3

www.axiarai l ing.com

AX00.080.505

DegreaserScotch Brite Pads

Cloth Rag

Cloth Rag

AX00.080.515

Step 2

Step 1

Cleaner/Polish
AX00.080.510

AX00.080.517

Step 3 (required for exterior)

Polish/Passivator

www.stairwayshop.com



Balcony
11 Rows Cable
3 1/4" Spacing3'

-6
"

4' Max

Stairs
8 Rows Cable
3 1/16" Spacing

3 116"3'

4
316"

Balcony
9 Rows Cable
3 1/4" Spacing

31 4" 3'
MAX 4'

Balcony
11 Rows Cable
3 1/4" Spacing3'

-6
"

4' Max

Stairs
8 Rows Cable
3 1/16" Spacing

3 116"3'

4
316"

Balcony
9 Rows Cable
3 1/4" Spacing

31 4" 3'

MAX 4'

Post Railing Systems

N E W E L  P O S T  I N S TA L L AT I O N
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

www.axiarai l ing.com

AX10.001.001.A.SP  (1 11/16” Round Floor Mounted Newel Posts)
AX20.001.010.A.SP   (1 9/16” Square Floor Mounted Newel Posts)
AX00.091.800.A.SP   (3/8 X 3 1/2” Wood Lag Bolt)
AX00.091.805.A.SP  (3/8 X 3 3/4” Drop in”Anchor (for Concrete)

• 4’ Level
• ¾ Socket and Rachet  
• ¼” Wood Drill Bit
• Tape Measure 
• Blue Painters Tape 
• 

Remember to deduct the amount of length for the rail support to sit on top of the post plus
the size of the handrail tubing. Ex. 36” rail height:  36” – 1 ¾” for rail support – 1 9/16” for handrail tubing

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

4

www.stairwayshop.com

https://www.stairwayshop.com/page/contact/



          

AX00.100.525

I N S TA L L AT I O N  G U I D E
 

2www.axiarai l ing.com

 

support and tube. If gap is more than a hairline gap and inconsistent around tube use a belt sander or grinder 

not remove too much material.

the railing parallel with the handrail to be installed.  

 Loosen anchor bolts to allow shims to slip under 

5. Install appropriate rail supports in top of post. Glue rail supports to posts using “Green” Anaerobic 

AX00.091.800.A.SP   

(3/8 X 3 1/2” Wood Lag Bolt)

AX00.091.805.A.SP  
(3/8 X 3 3/4” Drop in”Anchor (for Concrete)

AX00.110.710

4

www.stairwayshop.com



H A N D R A I L  I N S TA L L AT I O N
 

I N S TA L L AT I O N  G U I D E
 

3www.axiarai l ing.com

AX00.080.515

INSTALL APPROPRIATE SADDLES IF THEY ARE NOT ALREADY INSTALLED. E.G. FLAT SADDLES FOR FLAT WOOD 
OR METAL RAIL. CONCAVE SADDLES FOR ROUND RAILING. 

4

www.stairwayshop.com



Post Railing Systems

H A N D R A I L  I N S TA L L AT I O N
 

S C R E W S
 

D R I L L  B I T S  &  TA P S
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

www.axiarai l ing.com

AX10.004.063.3000.A.SP  (1 11/16”x 9’10” Round Tubing)
AX10.004.065.5800.A.SP (1 11/16” x 19’ Round Tubing)
AX20.004.071.3000.A.SP  (1 9/16” Sq. x 9’10” Square Tubing)
AX20.004.070.5800.A.SP    (1 9/16” Sq. x 19’ Square Tubing)

  
Metal Rail AX00.091.250.A.SP  (M5 X 12 SS Screws)
Wood Rail  AX00.091.540.A.SP   (M4.8 X 25 SS Wood Screws)

5MM TAP= DRILL BIT SIZE 4.3MM = AX00.070.605
6MM TAP= DRILL BIT SIZE 5.2MM = AX00.070.606
8MM TAP= DRILL BIT SIZE 6.9MM = AX00.070.608
5/16”-24 TAP= DRILL BIT SIZE LETTER i AX00.070.650

• Cordless or Electric Drill 
• 

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

When using stainless metal tubing use 

5

www.stairwayshop.com

https://www.stairwayshop.com/page/contact/



I N S TA L L AT I O N  G U I D E
 

2www.axiarai l ing.com

 Be sure to protect tubing from damage 

  Drill all holes (see drilling holes in stainless) apply three or four 

 Install 5mm screws in 

or you could possibly strip out the threads.

 Apply two 

5

www.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

3www.axiarai l ing.com

Adjustable wall mount flange Flange CoverWall mount flange

 Apply two 

“witness” mark

“witness” mark

5

www.stairwayshop.com



Post Railing Systems - Infill

S W A G E D  C A B L E  I N S TA L L AT I O N
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

AX00.050.221SX.B.SP  
AX00.050.220DX.B.SP  
AX00.050.231SX.B.SP  
AX00.050.230DX.B.SP  
AX00.050.233SX.B.SP  
AX00.050.231DX.B.SP  
AX10.060.245.B.SP   
AX20.060.245.B.SP   
AX00.050.235.B.SP   
AX00.040.215.B.M   

• String or chalk line
• 5.3 mm drill bit  
• #2 Philips bit
• 
• 1/8” Cobalt bit
• Tape Measure 
• Cordless or electric drill
• 
• 

1. Using a ½ x ¾ or other piece of 

3. Using long straight edge, level, 
trim etc. 

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

1 84
"

6

www.axiarai l ing.comwww.stairwayshop.com

https://www.stairwayshop.com/page/contact/



and repeat the span. 

 

on stairs using 1/8” pilot hole as a guide and drill 5/16” hole on each side straight in. 

I N S TA L L AT I O N  G U I D E
 

2

41 16
"

"01

"36’

73 4"

Ø6"

1”16
3

4

6

www.axiarai l ing.comwww.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

3

AX00.060.400 
Hydraulic CrimperCable cutter

HFC18.CUTTER

       
Through-post configuration

TensionerTensioner

Drill
5/16"

Drill
5/16"

6

www.axiarai l ing.comwww.stairwayshop.com



Allen head tensioner on each end of cable. 

methods as originally installed. 

20. Leave all degreaser, cleaner and passivator for 
stainless rail and cable to be cleaned and protected 

I N S TA L L AT I O N  G U I D E
 

4

AX00.080.517

Step 1 Step 2

Step 3 (required for exterior)

Degreaser Cleaner/Polish
AX00.080.515 AX00.080.510

Polish/Passivator

Recommended Tensioning Sequence

Tension each row of cable 
equally to 225 lbs making 
sure not to over tighten. 
Use tension gauge to 
accurately measure tension. 

Tension Gauge
HFC18.TENSION.GAUGE

6

www.axiarai l ing.comwww.stairwayshop.com



www.stairwayshop.com



www.stairwayshop.com



www.stairwayshop.com



www.stairwayshop.com



Post Railing Systems - Infill

H O R I Z O N TA L  R O U N D  B A R  I N S TA L L AT I O N
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

1 84
"

AX10.009.83000.A.SP  (12 x 1.5 mm 3000 mm 1/2” Tubing)
AX10.009.85800.A.SP  (12 x 1.5 mm 5800 mm  ½” Tubing)
AX10.010.200.A.SP   (Bar holder for round posts) 
AX10.010.205.A.SP   (Bar holder for square posts)
AX10.010.206.A.SP   (Holder for splice in bar (2 set screws) 
AX10.010.082.A.SP   (Inline adjustable angle connector)
AX10.010.209.A.SP   
AX10.010.081.A.SP   (End caps) 
AX10.010.208.A.SP   

• String or chalk line
• 5.3 mm drill bit  
• 6 mm tap
• #2 Philips bit
• 
• 1/8” Cobalt bit
• Tape Measure 
• Cordless or electric drill
• 

1. Use Sharpie to mark under 

post layout trim 

2. Guards on the open sides of stairs shall not have openings which allow passage of a sphere 4 3/8 inches (111 mm) in diameter.

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

7

www.axiarai l ing.comwww.stairwayshop.com

https://www.stairwayshop.com/page/contact/



I N S TA L L AT I O N  G U I D E
 

2

varies depending on the angle of your stairs. 

on the line on all posts. 

measure or square. 

7

41 16
"

"01

"36’

73 4"

Ø6"

1”16
3

4

www.axiarai l ing.comwww.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

3

AX10.010.200.A.SP

 

 
15. Install 6mm Tap into Drill Chuck of drill.  

Remove blue tape 

Allow for 
overhang at each end to allow for end caps on each bar 

7

www.axiarai l ing.comwww.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

4

bar in holder. 
any set screws. 

  

7

AX00.080.517

AX00.080.505

Step 1 Step 2

Step 3 (required for exterior)

Degreaser Cleaner/Polish
AX00.080.515 AX00.080.510

Polish/Passivator

www.axiarai l ing.comwww.stairwayshop.com



Post Railing Systems - Infill

G L A S S  C L A M P S  I N S TA L L AT I O N
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

AX10.014.180.A.SP  (Glass clamps for round posts)
AX10.015.182.R  (Rubber insert fo round clamp, 3/8” glass)
AX10.015.183.R  (Rubber insert fo round clamp, 1/2” glass)
AX20.014.190.A.SP  (Glass clamps for square posts)
AX10.014.191.R  (Rubber insert fo square clamp, 3/8” glass)
AX10.014.192.R  (Rubber insert fo square clamp, 1/2” glass)

• String
• 1/8” Cobalt bit
• 6.9 mm Cobalt bit
• 8 mm tap
• Thread Lock
• Tape Measure 
• 
• Cordless or electric drill
• 
• 

to diagram provided, or desired  

2. Glass clamps can be installed 

required in panel to avoid glass from 
falling out of clamps. Or you can use 
safety pins on glass clamps in lieu of 

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

8

www.axiarai l ing.comwww.stairwayshop.com

https://www.stairwayshop.com/page/contact/



the span. 

cable on an open tread staircase should not be more than 1/2” of an inch above the nosing of the treads in order to meet 

 

Be sure to use 

5. Be sure glass clamps are on the same plane as each other.

glass clamp on each side. Cut template to height of Newel 
posts. Be sure to install template with the rubber pads 

measurements (Margins) around glass are equal, straight. 

any holes on the template for safety pins. Drill ½” hole for safety pin.

8. Once all templates are cut, installed and labeled. 

  

provided. 
from losing the pads.

I N S TA L L AT I O N  G U I D E
 

2

8

www.axiarai l ing.comwww.stairwayshop.com



clamp. 

make margins equal or even. 

I N S TA L L AT I O N  G U I D E
 

3

8

www.axiarai l ing.comwww.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

4

5/10

Balcony

Stairs

8

www.axiarai l ing.com

Note: Use flat polished edges on glass with radius or 

bumped corners when ordering glass from your glass 

supplier. All railing requires the use of tempered glass.

Recommended Configuration

Swift plates used on bottom clamps

Safety pins on top clamps not required

when using the swift plate on bottom clamps.

Safety pins must be 

used on top clamps

Use thread lock on all screws

AX00.100.563

Recommended Layout

www.stairwayshop.com



Glass Railing Systems

G L A S S  S TA N D O F F  I N S TA L L AT I O N
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

AX30.017.040.A.SP  
AX30.017.042.F  
AX30.017.041.A.SP  
AX30.017.043.F  

• Spanner Wrench - round (AX30.070.530) 
• Spanner Wrench - square (AX30.070.531)  
• Circular Saw
• Tape Measure 
• 
• 
• 

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

9

www.axiarai l ing.comwww.stairwayshop.com

https://www.stairwayshop.com/page/contact/



I N S TA L L AT I O N  G U I D E
 

2

Balcony

Stairs

9

www.axiarai l ing.com

Note: Use flat polished edges on glass with radius or 

bumped corners when ordering glass from your glass 

supplier. All railing requires the use of tempered glass.

Cap rail required on glass for stairs to meet IRC code and recommended for balconies.

Check your local municipality for requirements

Note: All glass on stairways and balconies 

are considered a hazardous location and 

requires the use of tempered glass.

Recommended Configuration

Recommended Configuration

www.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

3

AX30.017.043.F

COD.                           Thickness                       

AX30.017.042.F

9

www.axiarai l ing.comwww.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

4

COD.            
AX30.070.530 

COD.            
AX30.070.531

Cloth Rag
Step 2

Cleaner/Polish
AX00.080.510

9

www.axiarai l ing.comwww.stairwayshop.com



Glass Railing Systems

U - C H A N N E L  I N S TA L L AT I O N
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

AX40.020.050.D.M  
AX40.020.051.D.M  
AX40.020.051.D.M  
AX40.023.272.D.M  
AX40.023.274.D.M  
AX40.021.285.R  

• Power Drill
• Circular Saw
• 
• 

• 
For more detailed information on tools please visit: 

www.axiarailing.com/recommended-tools

10

www.axiarai l ing.com

AX00.110.710AX00.091.880.A.SPAX00.091.885.A.SP

Composite Shims

www.stairwayshop.com

https://www.stairwayshop.com/page/contact/



I N S TA L L AT I O N  G U I D E
 

2

10

www.axiarai l ing.com

AX40.020.050.D.M
5000 mm

AX40.023.272.D.M

in

AX40.023.274.D.M

AX40.020.051.D.M
2500 mm

AX40.020.050.D.M
5000 mm

out

in

out
AX40.020.052.D.M
5000 mm

AX40.023.276.D.M

AX40.023.278.D.M AX40.020.053.D.M
2500 mm

AX40.020.055.D.SP

Floor profile

Floor profile

Wall profile

Wall profile

www.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

3

 

10

www.axiarai l ing.comwww.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

4

10

www.axiarai l ing.com

250 mm

125 mm

C (10 pcs.) D (10 pcs.)

B (2.5m)

E (2.5m)

A

Fixing plugs not included

E (2.5m)

D (10 pcs.)

B (2.5m)

C (10 pcs.)

A
Fixing plugs not included

www.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

5

 

10

www.axiarai l ing.com

Wedge tool    

AX40.070.562 

    

AX40.024.279 

self adhesive

Stainless steel cladding 
for floor profile

Degreaser
AX00.080.515

Step 1

Cloth Rag
Step 2

Cleaner/Polish
AX00.080.510

www.stairwayshop.com



Glass Railing Systems

C A P  R A I L  I N S TA L L AT I O N
 

T O O L S  R E Q U I R E D
 

S T E P S  R E Q U I R E D
 

I N S TA L L AT I O N  G U I D E
 

1

I N S TA L L AT I O N  G U I D E
 

www.axiarai l ing.com

For use with 3/8"-1/2" glassApply clear silicone to glass before applying gasket, apply on top 
of gasket also before mounting cap rail.

AX00.030.065.A.SP  (1.66” Round cap rail)
AX00.030.071.A.SP  (1.57” Square cap rail)
AX00.031.072.R (Rubber gasket for cap rail)
S-2611   (100% Silicone sealant)

• Caulking gun
• (Cold Cut Saw, Bench top Portable Bandsaw, 

For more detailed information on tools please visit: 
www.axiarailing.com/recommended-tools

1. Measure and cut rubber gasket to length.

2. Apply a bead of clear silicone on top of glass panels and place rubber gasket on top of glass by spreading U 

11

www.stairwayshop.com

https://www.stairwayshop.com/page/contact/



I N S TA L L AT I O N  G U I D E
 

2www.axiarai l ing.com

COD.                               Ø   

AX00.032.175.A.SP

COD.                                    Ø

AX00.032.324.A.SP

  

11

Slotted flange cover allows glass 

to be installed 1/4" from wall

www.stairwayshop.com



I N S TA L L AT I O N  G U I D E
 

3www.axiarai l ing.com

AX00.080.505

DegreaserScotch Brite Pads
AX00.080.515

Step 1

Cloth Rag
Step 2

Cleaner/Polish
AX00.080.510

Cloth Rag
AX00.080.517

Step 3 (required for exterior)

Polish/Passivator

 

11

www.stairwayshop.com


